FOR CLASS-VII CHAPTER-1 QUESTIONS AND ANSWERS RSMPS,SUPAUL

Chapter-1: Computer Fundamentals
Question and Answer Session

v G) Answer the following questions:-

1.Differentiate between the following.

(a) High-level language and machine level language
Answer:- High-level language

i) Programs written in this language are easy to read and understa y the rammers
ii) It cannot understand by computer directly
iii) It is portable language
But

Machine level language
i) It is very difficult to write any program in th ng
i) It can understand by the computer directly
iii) It is non-portable language

(b) Compiler and Interprete

Answer:- Compiler
chine language at a time
n and then remove them

Answer:- Sy

i) This software is used to control the operations of a computer system.
ii) The example of system software are operating system,language processor and utility
software
But

Application Software

i) The software that are used to perform specific tasks.

ii) The example of application software are DBMS, Desktop publishing software and office
pachage.
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FOR CLASS-VII CHAPTER-1 QUESTIONS AND ANSWERS RSMPS,SUPAUL

2. What are the two categories of application software?Name

and define them by giving suitable examples of each.

Answer:- The two categories of application software are-
1) General purpose application software and
1) Specific purpose application software
General purpose application software:-
It is a type of application software developed keeping in mind the requirements of an organization.
Example of General purpose application software are:-
Word Processor ,DBMS,Multimedia Software etc
Specific purpose application software:-
It is a type of software developed keeping in mind the general needs
number of people.
Example of Specific purpose application Software are:-

Answer:- The main _.-.__. age.c
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